Topic : GRAPHIGARL  ANALYSLS

PORPOseES  oF
STATISTItAr &RAPHS
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*Discovery COMMUNICATION  OF

" ANALY SIS PERTINENT FINDINES

* DETECTIVE WORK AND PATTERNS 1N
™Me DATA

- COMHUNI(ATES KEY POINTS

- USE MHiNiIMuH  AMOUNT oF NOTES IN Tve
DATA RESION

- CONPACT G&RAPHS  ARE OFTEN USEFU/

- GRAPH  CONSTRUCTION 1S AN {1 TERATWE  PROCESS
-~ SCALE VUSED IN THE GRAPH IS (CRUCIAYL



Topic: _INPULSE  RESPONSE FUNCTION

A STATIONARY TiMe seRiES X, CAN Be
SEEN As e \MPULSE RESPONSE TFUNCTION
TO RONDOH SHOCKS £,

™ PROVIDES US WITH INFORMATION HOW THe
\HPULSE  PROPACATES THRouGH THE _SYSTEM  AND
WHET™  EFFECT 1T HAS OVER TINE,

C XA
: MPULSE)
ReSPONSE




Exe(fgnse_ 1.4

COMPUTE e \HAUSE  RESPONSE  TFUNCTION

Xe = 0.6 X, - 0.2, *E

ert=1,2,3 ¢4, 5

WHEN WE HAVE A 5iNGLE  SHeek €, = 4
AT THE O, WHERems &£, €, = . -0

ASSUME  ALSO THAT  X_, =0  AND X., <O

° Step 4 - COHPUTE
ep Vg Xy, 50, X, X3, X, AnD X
© Xo 7 0.6 Xy m0.2x., + €

we Know thyt,
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06 (0)-0.2(0)+ 4 =4

. X = O.Gxo -~ 0.2 X_ % £

0.6(4) - 02(0) + 0 =06

. A -

Lt By -

i

=0
In the step obove

wWe Ob'r'a.n.ed XO >



* X, = 0.6 X, 02X+ E,

=0.6(06) -0.2(4) +0 = 0.16
y ‘ -
X5 0.6 Xo =4

O_XB: 06)(2_ ‘0-2.)(, '+g3

H

> 0.6 (016) 0.2 (06) +0 = =0,0240

P Xé{ = 06X3 *0.2.X2_+ g‘i

= 0.6(20.0240) ~ 0.2 (0.16)+0=- 0. 0464

—

°X§— - 0.6 Xq _O'Z‘XB*gS

= 0.6 (-0.0484) - 0-2(-0.0240) + 0 - -0.02 30
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INLSE  RESPoNSE FuU

NCNMON Tenps To 2 ERO
AS t INCREPSES

° \MPULSE  RESPONSE TFUNCTION TAKES POS T ve
AND  NEGATIVE VALUES.

—"+@P 30 HOW MANY (AGS ARE NEEDED For

ME  MPACT™ OF SHock 1o Be
REDLeED By so ) 7

o THE DECREASE oF THe IMPACT OF Tre
sHock AT ME O AFTer 4 ¢hH6-

Xy - X 0.6 — |
x 0% =

| "iw L,/'o = "40 c)/0
o ™HE DeEcrerse OF M™Me Mpact oF ™E
SHOCK AT THE O AFTER 2 (AGS:

X, - Xo u 0.16 - | vy
L . 100 7, = : ‘.[OOZ: "84/0




50 ME IMPACT OF SHOCK Wi/, BE REDUCED
BY 30x AFIER TWO (AGS.

—

EX_de(c@_e, 4,8
CONPUTE THE WMPULSE RESPONSE TFONCTNIEON
Xe: @ X TE, Sor £:0,1,2,3,4,5

WE HWVE Eg=4 AND £ =€, 2 .= O
WE ASSUNE X_y = O

OJ) LET d) =0.)

Xt = éxt‘)*gt
100( ‘t:O XO:O.Q X--] _r£'~0
T0F (o) = 4
for €= X, 203X, +€,

i3

O-:?(‘i) +0  =0.3

for £=2 X, 7 07X, +€, =
0.7 (O.’-}) +O = 0.¢49

pO( t=3 X3 = 0.7 XZ. "rgt
= 0.3(0.43) +O = 0.3430



'PO( t:4 Xq = C)?X__g "rgq

=0 3 (0343o)+ O = O,Z({O}

for -5 Xe:z O.7F X, v¢€,
= 0.3 (o,zqo():ro

= 0. 1§81

THE (\MPULSE RESPONSE

Xe TENDS YO 22R0

“F/%-ST/ HONCTONY Gy AND TAKES NON ~-NEGAIVE

VALVES.
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THE SHOCK Dess Nor

¥

THE SHOK STAYS

DECRENSE OUER TIMNE

IN THe SysSTEM TOREVER



